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1.5 �� ������� ,� 7������ ��
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�� #��
���
�� �	����� ��� ���

���� -
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����	�
 	� �	���� �	�������� 2$/&6./89.32� /::3�

1/5 �� "����
� ;� ������
� ��
 �� �������	�� #����	�
 ,��� ;
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��
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���� ���
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/�. 7��� ��
 �������
�� ������� �����
���� � � � � � � � � � � � � � � � � � � � .2

/�/ ���� ����� ��
 �������
�� ���

��	� � � � � � � � � � � � � � � � � � � � � � .3

/�2 7��� +�������
� ��
 7��� +�	����� � � � � � � � � � � � � � � � � � � � � � � .?

/�3 ��� *��+��� 0�

�	��
�� �� ���@� 7��� +�	����� �����
��� � � � � � � � .8

/�4 ������
�� ���@� +�������
��
�� �
��� � � � � � � � � � � � � � � � � � � � /.

� �����	��� ���	���	�� �����	���� ��

2�. #��
���
�� �������� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � /4

2�.�. �������
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � /4

2�.�/ ��A 	�������
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � /4

2�.�2 ��� 	�����(���
��
 	��	�� � � � � � � � � � � � � � � � � � � � � � � � /?

2�.�3 +�����
�� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � /?

2�/ #��
���
�� �����
���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � /B

2�/�. ��	���(��
� �����
��� � � � � � � � � � � � � � � � � � � � � � � � � � /B

2�/�/ ��� )���� #��
���
�� �����
��� � � � � � � � � � � � � � � � � � � � /C

2�/�2 ��� -������
 #��
���
�� �����
���� � � � � � � � � � � � � � � � � /C

2�/�3 ���� ��������� 7�
� D����
�� #��
���
�� �����
��� � � � � � � � � � 23

2�2 �!"#� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 2?

2�2�. #��
���
�� �	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � 2B

2�2�/ #��
���
�� �		���	� ��
 ��
����� � � � � � � � � � � � � � � � � � � � 28
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2�2�2 ���������	� �� ��� ����	�� �����	�
 �
�� �!"#� � � � � � � � � � 3?

� �
� �������� �	�� ���� �	������	��	��  �

3�. ,��� ;
������
��
�� �����
���� � � � � � � � � � � � � � � � � � � � � � � � � 4/

3�.�. #����	�
 )���� ,��� ���

	��� � � � � � � � � � � � � � � � � � � � � 42

3�.�/ #����	�
 *�� �������
�� ��	��� ,��� ;���	�
�� � � � � � � � � � � 43

3�.�2 #����	�
 ��
�� �	���� � � � � � � � � � � � � � � � � � � � � � � � � 4?

3�.�3 7�
� 7��� �	���� � � � � � � � � � � � � � � � � � � � � � � � � � � � � 48

3�.�4 �������� ,��� ;
������
��
�� �����
���� � � � � � � � � � � � � � � � ?.

3�.�? !����������
�� �� ,��� ;
������
��
�� �����
���� � � � � � � � � � � ?/

3�/ ��� *��+���(,�6 #����	�
 #���� +�	����� ����
 �� ,��� ���

	�
�� � � ?2

3�/�. ��� *��+���(,�6 �����
��� � � � � � � � � � � � � � � � � � � � � � ?2

3�/�/ ��� *��+���(,�6 !����������
�� � � � � � � � � � � � � � � � � � � ??

 �������! �" ���� �	������	��	�� �����	���� 
#

4�. �
�����
�� �	����
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ?C

4�/ ���������	� 0���
	� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � B:

4�2 �		���	� �� ,;� �	����� � � � � � � � � � � � � � � � � � � � � � � � � � � � B.

4�2�. <�	��������
 ,����� � � � � � � � � � � � � � � � � � � � � � � � � � � � B/

4�2�/ =
�� ��	��� #���� +���� � � � � � � � � � � � � � � � � � � � � � � � � BB

4�2�2 ���������
 ,����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � B8

4�2�3 !���	� �� ��� +���
 ��
� �
�� � � � � � � � � � � � � � � � � � � � � C.


 ���"������� �" �������� �
� $������ %�

?�. �
�����
�� �	����
� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � C2

?�/ 0���
	� ���
 �� ������� ��� ���������	� � � � � � � � � � � � � � � � � � � C4

?�2 ���������	� �� ��� *��+���(,� � � � � � � � � � � � � � � � � � � � � � � C?

?�2�. �		���	� �� ��� )���� ���

	��� 
� ��� *��+���(,� � � � � � � � C?

?�2�/ <�	��������
 ,����� � � � � � � � � � � � � � � � � � � � � � � � � � � � CB

?�2�2 ���������
 ,����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � C8

?�2�3 !���	� �� ��� +���
 ��
� �
�� � � � � � � � � � � � � � � � � � � � � C8
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?�2�4 ���������	� 
� ��� ������	� �� �����(���'	 � � � � � � � � � � � � � 8.

?�2�? �����(,
��
 ��� �����	�
��� � � � � � � � � � � � � � � � � � � � � � 82

?�2�B 7�
��
�
���� ��
 7�
����� � � � � � � � � � � � � � � � � � � � � � � � � 82

?�2�C >������
 � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � 8?

?�2�8 ������
��� �
�� ��� �������
�� "��
�

�� #��
���
�� � � � � � 8?

?�3 #��	� �� ,
�� ,���� �+D6 ��� C:/�.. 	��� � � � � � � � � � � � � � � � � � � .::

?�4 ��� ���������	� �
�� �
 =�	 +���
�� �����	��� � � � � � � � � � � � � � � .:.

?�? =
�� ����
 ,
��� � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .:/

# ��&��������	�� ��� ���� ��� �'#

B�. =������������ *������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � .:B

B�.�. <�	��������
 ,����� � � � � � � � � � � � � � � � � � � � � � � � � � � � .:C

B�.�/ ���������
 ,����� � � � � � � � � � � � � � � � � � � � � � � � � � � � � ...

B�.�2 7�
��
�
���� ��
 7�
����� � � � � � � � � � � � � � � � � � � � � � � � � ...

B�.�3 �����(,
��
 ��� �����	�
��� � � � � � � � � � � � � � � � � � � � � � ../

B�/ �
(��	 *������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ..3

B�2 �������� !� *������ � � � � � � � � � � � � � � � � � � � � � � � � � � � � � � ..C
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ACKLinterval = now − lastLACKLtime

sampleLBWE[k] =
acked·pktLsize·8
ACKLinterval

pole =
2τ−ACKLinterval

2τ+ACKLinterval

BWE[k] = pole · BWE[k − 1] + 1−pole
2
· (sampleLBWE[k] + sampleLBWE[k − 1])
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pole[k] =
2τ [k]−ACKLinterval

2τ [k]+ACKLinterval

BWE[k] = pole[k] · BWE[k − 1] + (1− pole[k]) · sampleLBWE[k]
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sampleLlength[k] = pktLsize · 8
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Offered Load, L

Throughput ,T

L
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Delay, D 

L Offered Load, L

���

Offered Load, L 

Network Power, P

L

���
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��� $TotalP ipeSize& �� �������6

TotalP ipeSize =
1

2
· RTTk · F lightSizek − F lightSizek−1

RTTk − RTTk−1
$3�/&

����� F lightSizek ��
 RTTk ��� �����	�
���� ��� G
���(�
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 �� 	��	����� ��� 	������ ����� �� ��� ����
 ��
� 
���� �� ��� ����(��
��� RTTkp�

	��	�����
 ��6

RTTkp = RTTmin +
1

2
· ActualLRate · RTTmin

F lightSizek
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 ��
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����� �� ����� ��
� �������� �� ������� � ��

��
 ����
��

�� ��� *��,; �	���� ���� ����� 
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�����	� ������� ��� 	����	��
�� +��

������� �� ��� ����� �� ��� 	��	� ��������
�� 1/85� ���� ���� ������ ��� ���� ������
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� ������ ��� *��,; �	���� �� ����

� 	����	� ���
���
��� �� TotalP ipeSize ����

���� 	����	��
�� ������� �� ��� ����
 ��
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���� ���� ���������� ��� ���� ������
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�� �� ������ ��� ����
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� �� ��� �������
 �����	�
 *��,; ����(
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���� ����� RTTk ��
 F lightSizek ���� �����	�
����� ��� 	������ RTT ��
 ����)�1�2�

������ 	��	�����
 �� ��� ��	�
�� �� �� k − th ��A�

�����	��� �)�)�* %��&�$BandwidthEstimate, RTTk&

	" RTTk < RTTmin

����
{
RTTmin = RTTk

	" (F lightSizek �= F lightSizek−1 ��� RTTk �= RTTk−1)

����

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

TotalP ipeSize← 1
2
·RTTk · F lightSizek−F lightSizek−1

RTTk−RTTk−1

BandwidthDelayProduct← BandwidthEstimate ·RTTmin

DeltaDelay ← 1
2
·RTTk · BandwidthDelayProduct

TotalP ipeSize

RTTkp ← RTTmin + DeltaDelay

	" RTTk > RTTkp
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{
������ (�������
�� ����)

����
{
������ (-
������ ����)
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�� !�����

��� 1��&� 
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�
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���
 ��� ��	�
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�� BspikeStart ��


BspikeEnd� 	��	�����
 �� �������6

BspikeStart = RTTmin + α · (RTTmax − RTTmin)

BspikeEnd = RTTmin + β · (RTTmax −RTTmin) $3�3&
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1.45�
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�
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� !� ��� 	������ ����� �� ��� RTT 
� ���� ���� BspikeEnd� $RTT < BspikeEnd&� ���
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 ��
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�� 
���
������ �� ��� �
������ 	�������

� 7
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� ��� RTT 
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BspikeEnd

RTT

time

Presumed congestion
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����
{
RTTmax ← 0

	" RTT < RTTmin

����
{
RTTmin ← RTT

���� 	" RTT > RTTmax

����
{
RTTmax ← RTT

BspikeStart← RTTmin + α · (RTTmax −RTTmin)

BspikeEnd← RTTmin + β · (RTTmax − RTTmin)

	" RTT > BspikeStart
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{
������ (�������
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���� 	" RTT < BspikeEnd
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�
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yagile
k = 1/10 · yagile

k−1 + 9/10 · xk

ystable
k = 9/10 · ystable

k−1 + 1/10 · xk $3�4&
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x + 3 · MR

d2
$3�?&
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� ��� �
��
�� ���� ��
�� ��������

	" sLrtt > estLrtt + 3 · MR
1.128
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⎧⎪⎪⎪⎨
⎪⎪⎪⎩

vector ← vector << 1

vector ← vector �� 1

estLrtt← 9/10 · estLrtt + 1/10 · sLrtt

����

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

vector ← vector << 1

vector ← vector �� 0

estLrtt← 1/10 · estLrtt + 9/10 · sLrtt

diff ← |sLrtt− lastLrtt|
MR← 7/8 ·MR + 1/8 · diff
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vector = 0

estLrtt← sLrtt

MR← estLrtt
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lastLrtt← sLrtt
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NewReno

NewReno-LP
virtual void dupack_action()
virtual void timeout(int tno)

 void estimate_network(Packet *pkt)
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